CLELINITIURIERRIOIUIGIE

95 + 247 203 - 167
367 + 249 | 523 - 369
177 + 384 | 722 - B48

CLELINITIURIENRIOIUIGIE

276 + 486 | 402 - 146
53 + 748 | 743 - 156
134 + 699 | 834 - 355

CLELHNITIUIRIENRIOIUIGLE
432 - 266 | B84 + 367
748 79 326 + 177
605 - 428 | 284 + 229

CLE[INITIUIRIENRIOIUIGIE
724 - 87 92+ 222
631-537 | 467 + 388
806 - 128 i 524 + 369

CLELIINITIURIENRIOIUIGIE
67 + 435 | 814 - 367
536 + 145 | 902 - 648
449 + 75 | 710 - 521

CLEIIINITIURIENRIOIUIGIE

686 + 327 908 - 259
127 + 83 | 627-78
399 + 245 {783 - 195

CLE[IINITIU[RIEQRIOUIGIE

727 _ 188
504 - 47
813 - 428

. 625 + 177
. 259 + 63
. 574 + 358

CLELINITIURIERRIOIUIGIE

388 + 226 | BO6 - 177
9% + 219 i 801 - 183
839 + 164 | 383 -299

CLELINITIURIEQRIOIUIGIE

163 + 38 | 408 - 229
518 + 299 | 611 - 162
284 + 176 i 473 - 279



CLE[IINITIU[RIERRIOUIGIE
corvechion 1
95+247=342 | 203-167-36
367 +249-616 | 523-369- 154
177+384 =561 | 722-548= 174

CLELLINITIURIENRIOIUIGIE
276 +486=761 | 402-146=256
53+748=-801 | 743-156=-587
134 +699-833 | 834-355-479

CLELHNITIUIRIENRIOIUIGLE
432-266=166 | 584+367=951
748-79-669 | 326+ 177-503
605-428= 177 | 284+229-513

CIELLINITIUIRIERRIOIUIGIE
cannaciiam |
724-87=637 | 92+222=314
631-537-94 | 467+388-855
806-128=678 | 524+369-893

CIE[I[N]T]U[RENR{OJUIGIE
67+435=502 i 814-367=447
536+ 145=681 | 902-648=254
449 +75=524 710-521=189

CIELIINITIUIRIERRIOIUIGIE
686+327= 1013} 908-2569=649
127+83=201 | 627-78=549
399+245-644 | 783-195-588

CLE[IINITIU[RIEQRIOUIGIE
.C@J'LTLSLCILMI‘I. 7

727-188=539 | 625+ 177=802
504-47=457 | 269+63=322
813-428=-385 | 574 +358=932

CLELIINITIU[RIEQRIOUIGIE
388+226 =614 i B06-177=329
9+219-315 | 801-183-618
839+ 164 = 1003} 383-299-84

ClELINITIUIRIERRIOIUIGIE
163+38=201 | 408-229=179
518+299-817 | 611-162=449
284+ 176 =460 | 473-279=19%



CLELINITIURIERRIOIUIGIE

CLELINITIURIERRIOIUIGIE

27 + 185

406 - 299

568 + 237
875 + 495

374 - 299

195 + #28

537 - 388

653 - 275

788 + 166

CLELINITIURIENRIOIUIGIE

(CIEL|INITIURIEQRIOIUIGIE]

664 - 378

287 - 279

179 + 46

782 + 159

709 - 267

474 + 156

645 - 278

246 + D57
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